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1 r-p=Ip,+yp,+zp:

(B-35)
In classical mechanics, the scalar product r - p is commutative, and one can just as well
write:
2 % = VPr — :Z \ P r=p.2+pyy+p.z (B-36)
/ I
- But when r and p are replaced by the corresponding observables R and P, the operators
CD © y 7'2—] © obtained from (B-35) and (B-36) are not identical [see relations (B-33)]:
R-P#P-R (B-37)
J: "4\ o Moreover, neither R - P nor P - R is Hermitian:
va Ty o S
(R-P)' =(XP,+YP,+ZP.) =P R (B-38)
Y\ € fé&r \O %( Al %‘/ A r To the preceding postulates, therefore, must be added a symmetrization rule. For exam-
;_> J— Y? ZF ple, the observable associated with r - p will be:
§(R-P+ P-R) (B-39)

analogous symmetrization is to be performed.

N 1 ¢ which is indeed Hermitian. For an observable which is more complicated than R - P, an

The observable A which describes a classically defined physical quantity A
is obtained by replacing, in the suitably symmetrized expression for A, r and p

L

= E:

by the observables R and P respectively.
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